| Efficiency vs Dxy |
> 0.8
<

o
\‘

efficiency vs d
o
(o)

o
&)

o
w

o
(S

Q
=

o
N
_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

Ratiq
&

- R E B --ulillllllll%llm oo Feeeees = EEEE

0955 56-15-10 -5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R000000001__Global _mkFit_baselinel

| Efficiency vs Dz |

—— DQM_V0001_R000000001__Global__mkFit_batchl

N 0.8

o
\‘

o
o))

....................................................................

[TTTTTTTTT | TTTT
T T
-

efficiency vs d

© o
D a1
TT T T TTTT

o
[

1UPe 9-- ¢ - ¢ --200 -90 Pt SRR

930 =20 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


